OPENING OF BIDS:

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	иом	APPROVED	BUDGET	BIDDER'S OFFER		
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE	
ICROPS-CPMD 8265300	1	1	BRANDED AND BRAND NEW 2 STEP LADDER	3	set	₱600.00	₱1,800.00		NO OFFER	
SHERYL VALENCIA/ MARIA CHARITO E.		2	BRANDED AND BRAND NEW AMBER BOTTLE	10	рс	₱150.00	₱1,500.00		NO OFFER	
BALLANDARES 049 536-0716		3	BRANDED AND BRAND NEW AMBER BOTTLE	20	рс	₱3,700.00	₱74,000.00		NO OFFER	
		4	BRANDED AND BRAND NEW CART STAINLESS STEEL	6	cas	₱14,400.00	₱86,400.00		NO OFFER	
		5	BRANDED AND BRAND NEW CULTURE VESSEL	350	рс	₱270.00	₱94,500.00		NO OFFER	
			6	BRANDED AND BRAND NEW CULTURE VESSEL	6	рс	₱2,400.00	₱14,400.00		NO OFFER
		7	BRANDED AND BRAND NEW LABEL MARKER	3	рс	₱8,750.00	₱26,250.00		NO OFFER	
		8	BRANDED AND BRAND NEW DEXTROSE BOTTLE	10	рс	₱710.00	₱7,100.00		NO OFFER	
		9	BRANDED AND BRAND NEW DIGITAL THERMOMETER AND HYGROMETER	6	рс	₱6,000.00	₱36,000.00		NO OFFER	
		10	BRANDED AND BRAND NEW ELECTRICAL POWER TIMER	10	рс	₱1,200.00	₱12,000.00		NO OFFER	
		11	BRANDED AND BRAND NEW FORCEPS, 10"	12	рс	₱360.00	₱4,320.00		NO OFFER	
			12	BRANDED AND BRAND NEW FORCEPS, 6"	12	рс	₱350.00	₱4,200.00		NO OFFER
		13	BRANDED AND BRAND NEW GLASS BEAKER, 2000 ML	10	рс	₱2,600.00	₱26,000.00		NO OFFER	
		14	BRANDED AND BRAND NEW GLASS BEAKER, 250 ML	19	рс	₱480.00	₱9,120.00		NO OFFER	
		15	BRANDED AND BRAND NEW GLASS BEAKER, 500 ML	20	рс	₱580.00	₱11,600.00		NO OFFER	

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:
OPENING OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	иом	APPROVED	APPROVED BUDGET		BIDDER'S OFFER	
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE	
		16	BRANDED AND BRAND NEW GRADUATED CYLINDER, 10 ML	10	рс	₱960.00	₱9,600.00		NO OFFER	
		17	BRANDED AND BRAND NEW GRADUATED CYLINDER, 100 ML	10	рс	₱1,500.00	₽ 15,000.00		NO OFFER	
		18	BRANDED AND BRAND NEW GRADUATED CYLINDER, 1000 ML	10	рс	₱1,000.00	₽ 10,000.00		NO OFFER	
		19	BRANDED AND BRAND NEW GRADUATED PITCHER, 500 ML	10	рс	₱ 1,000.00	₱ 10,000.00		NO OFFER	
		20	BRANDED AND BRAND NEW LABORATORY GOWN (LARGE BLUE)	10	рс	₱350.00	₱3,500.00		NO OFFER	
		21	BRANDED AND BRAND NEW LABORATORY GOWN (LARGE WHITE)	10	рс	₱350.00	₱3,500.00		NO OFFER	
		22	BRANDED AND BRAND NEW LABORATORY GOWN (X-LARGE BLUE)	10	рс	₱400.00	₱4,000.00		NO OFFER	
		23	BRANDED AND BRAND NEW LABORATORY GOWN (X-LARGE WHITE)	10	рс	₱400.00	₱4,000.00		NO OFFER	
		24	BRANDED AND BRAND NEW LABORATORY SHOES/ SLIP ON (WHITE SIZE 10")	10	pr	₱200.00	₱2,000.00		NO OFFER	
		25	BRANDED AND BRAND NEW LABORATORY SHOES/ SLIP ON (WHITE SIZE 8")	10	pr	₱200.00	₱2,000.00		NO OFFER	
		26	BRANDED AND BRAND NEW LABORATORY SHOES/ SLIP ON (WHITE SIZE 6")	10	pr	₱200.00	₱2,000.00		NO OFFER	
		27	BRANDED AND BRAND NEW LADLE, PLASTIC	6	рс	₱150.00	₱900.00		NO OFFER	
		28	BRANDED AND BRAND NEW LADLE, STAINLESS STEEL	5	рс	₱240.00	₱1,200.00		NO OFFER	
		29	BRANDED AND BRAND NEW LIQUEFIED PETOLEUM GAS TANK, 25 KG	3	рс	₱2,250.00	₱6,750.00		NO OFFER	
		30	BRANDED AND BRAND NEW LIQUEFIED PETOLEUM GAS TANK, 50 KG	1	рс	₱10,000.00	₱10,000.00		NO OFFER	

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:
OPENING OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	UOM	APPROVED	BUDGET	BIDDER'S OFFER	
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE
		31	BRANDED AND BRAND NEW MAGENTA C CAP	6	cas	₱4,200.00	₽ 25,200.00		NO OFFER
		32	BRANDED AND BRAND NEW MICROSPATULA, 8" LENGTH	10	рс	₱120.00	₱1,200.00		NO OFFER
		33	BRANDED AND BRAND NEW PARAFILM	6	rol	₱2,400.00	₱14,400.00		NO OFFER
		34	BRANDED AND BRAND NEW PYREX GLASS BEAKER, 1000ML	20	рс	₱ 1,260.00	₱25,200.00		NO OFFER
		35	BRANDED AND BRAND NEW SCALPEL BLADES	5	box	₱1,800.00	₱9,000.00		NO OFFER
		36	BRANDED AND BRAND NEW SCALPEL HANDLE, NO. 3: 5" LENGTH	12	рс	₱720.00	₱8,640.00		NO OFFER
		37	BRANDED AND BRAND NEW SCALPEL HANDLE, NO. 3: 8" LENGTH	12	box	₱7,200.00	₱86,400.00		NO OFFER
		38	BRANDED AND BRAND NEW SPATULA	10	рс	₱300.00	₱3,000.00		NO OFFER
		39	BRANDED AND BRAND NEW STAINLESS SHOE RACK	2	set	₱3,000.00	₱6,000.00		NO OFFER
		40	BRANDED AND BRAND NEW STIR BAR RETRIEVER	3	рс	₱1,300.00	₱3,900.00		NO OFFER
		41	BRANDED AND BRAND NEW STIR BAR, MAGNETIC	2	set	₱13,700.00	₽ 27,400.00		NO OFFER
		42	BRANDED AND BRAND NEW STIRRING ROD	20	рс	₱200.00	₱4,000.00		NO OFFER
		43	BRANDED AND BRAND NEW SYRINGE	5	box	₱720.00	₱3,600.00		NO OFFER
		44	BRANDED AND BRAND NEW TAPE, AUTOCLAVE INDICATOR	2	rol	₱2,500.00	₱5,000.00		NO OFFER
		45	BRANDED AND BRAND NEW TIMER	4	рс	₱3,500.00	₱ 14,000.00		NO OFFER

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:
OPENING OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM#	PARTICULARS	QUANTITY	UOM	APPROVED BUDGET		BIDDER'S OFFER	
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE
		46	BRANDED AND BRAND NEW TRASH BIN	6	рс	₱450.00	₱2,700.00		NO OFFER
		47	BRANDED AND BRAND NEW TRASH BIN	10	рс	₱350.00	₱3,500.00		NO OFFER
		48	BRANDED AND BRAND NEW WATT METER	3	рс	₱ 1,500.00	₱4,500.00		NO OFFER
		49	BRANDED AND BRAND NEW WEIGHING BOATS	3	pck	₱2,400.00	₱7,200.00		NO OFFER
		50	BRANDED AND BRAND NEW WEIGHING BOATS	3	pck	₱ 2,400.00	₱7,200.00		NO OFFER
		51	BRANDED AND BRAND NEW WEIGHING BOATS	3	pck	₱2,400.00	₱7,200.00		NO OFFER
		52	BRANDED AND BRAND NEW FIBER GLASS BIN 200 LITERS	2	set	₱6,000.00	₱ 12,000.00		NO OFFER
		53	BRANDED AND BRAND NEW FIBER GLASS BIN 50 LITERS	2	рс	₱8,500.00	₱17,000.00		NO OFFER
	PR	No.: 80085	TOTAL FOR LOT 1=			791,880.00		-	
CFNR N81412A	2	1	BRANDED AND BRAND NEW 0.2 ML 8-STRIP FLT CAPS	10	pck	₱9,500.00	₱95,000.00		NO OFFER
VICTORIA DACUG 536-3996		2	BRANDED AND BRAND NEW 0.2 ML 8-STRIPS TUBES	5	bag	₱ 12,500.00	₱62,500.00		NO OFFER
		3	BRANDED AND BRAND NEW 1.5 ML MICROCENTRIFUGE TUBE	10	pck	₱ 1,500.00	₽ 15,000.00		NO OFFER
		4	BRANDED AND BRAND NEW 2.0 ML MICROCENTRIFUGE TUBE STORAGE BOX	10	box	₱9,000.00	₱90,000.00		NO OFFER
		5	BRANDED AND BRAND NEW 2.0 ML MICROCENTRIFUGE TUBE	10	pck	₱ 1,500.00	₽ 15,000.00		NO OFFER
		6	BRANDED AND BRAND NEW ALCOHOL	20	btl	₱120.00	₱2,400.00		NO OFFER

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:
OPENING OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	UOM	APPROVED	BUDGET	BIDDER'S OFFER	
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE
		7	BRANDED AND BRAND NEW BASIN, 10L	5	рс	₱500.00	₱2,500.00		NO OFFER
		8	BRANDED AND BRAND NEW BASIN, 5L	5	рс	₱500.00	₱2,500.00		NO OFFER
		9	BRANDED AND BRAND NEW BEAKER	10	рс	₱550.00	₱5,500.00		NO OFFER
		10	BRANDED AND BRAND NEW BLADE, 22	3	box	₱ 1,500.00	₱4,500.00		NO OFFER
		11	BRANDED AND BRAND NEW BLADE, 20	3	box	₱ 1,500.00	₱4,500.00		NO OFFER
		12	BRANDED AND BRAND NEW CHROMATOGRAPHY PAPER	1	pck	₱12,500.00	₱ 12,500.00		NO OFFER
		13	BRANDED AND BRAND NEW COTTON BALLS	3	pck	₱120.00	₱360.00		NO OFFER
		14	BRANDED AND BRAND NEW COVER JAR	10	pck	₱100.00	₱1,000.00		NO OFFER
		15	BRANDED AND BRAND NEW COVER SLIP	1	box	₱700.00	₱700.00		NO OFFER
		16	BRANDED AND BRAND NEW DENATURED ALCOHOL	10	gal	₱700.00	₽ 7,000.00		NO OFFER
		17	BRANDED AND BRAND NEW DESSICATOR GLASS	1	рс	₱ 18,500.00	₱ 18,500.00		NO OFFER
		18	BRANDED AND BRAND NEW DIGITAL BALANCE	1	рс	₱ 7,500.00	₱7,500.00		NO OFFER
		19	BRANDED AND BRAND NEW DISHWASHING LIQUID	3	btl	₱290.00	₱870.00		NO OFFER
		20	BRANDED AND BRAND NEW DISTILLED WATER, 10L/GAL	100	gal	₱150.00	₱15,000.00		NO OFFER
		21	BRANDED AND BRAND NEW DISTILLED WATER, 4GAL/CBY	10	cby	₱450.00	₱ 4,500.00		NO OFFER

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:
OPENING OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	UOM	APPROVED	BUDGET	BIDDER'S OFFER	
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE
		22	BRANDED AND BRAND NEW DISTILLED WATER, 6 LITERS PER BOTTLE	10	btl	₱150.00	₱1,500.00		NO OFFER
		23	BRANDED AND BRAND NEW FACE MASK	5	box	₱234.00	₱1,170.00		NO OFFER
		24	BRANDED AND BRAND NEW FRITTED CRUCIBLE	2	рс	₱1,900.00	₱3,800.00		NO OFFER
		25	BRANDED AND BRAND NEW FUNGICIDE	10	pck	₱6,500.00	₱65,000.00		NO OFFER
		26	BRANDED AND BRAND NEW GLOVES	2	box	₱800.00	₱1,600.00		NO OFFER
		27	BRANDED AND BRAND NEW HOT PLATE	1	pck	₽ 2,500.00	₽ 2,500.00		NO OFFER
		28	BRANDED AND BRAND NEW JARS	502	рс	₱35.00	₱17,570.00		NO OFFER
		29	BRANDED AND BRAND NEW LABORATORY FOIL	1	pck	₱1,000.00	₱1,000.00		NO OFFER
		30	BRANDED AND BRAND NEW LABORATORY FILM	1	pck	₱2,000.00	₱2,000.00		NO OFFER
		31	BRANDED AND BRAND NEW LABORATORY WIPES	3	pck	₱500.00	₱1,500.00		NO OFFER
		32	BRANDED AND BRAND NEW LIQUID DETERGENT	5	gal	₱450.00	₱2,250.00		NO OFFER
		33	BRANDED AND BRAND NEW MEDICINE DROPPER	10	рс	₱25.00	₱250.00		NO OFFER
		34	BRANDED AND BRAND NEW MICROSCOPE SLIDE	1	box	₱500.00	₱500.00		NO OFFER
		35	BRANDED AND BRAND NEW MICROTOME CUTTER BLADES	1	box	₱15,000.00	₱15,000.00		NO OFFER
		36	BRANDED AND BRAND NEW PAPER TOWEL	1	box	₽2,250.00	₱2,250.00		NO OFFER

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:
OPENING OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	UOM	APPROVED	PPROVED BUDGET		BIDDER'S OFFER	
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE	
		37	BRANDED AND BRAND NEW PETRI DISHES 60MM	10	рс	₱380.00	₱3,800.00		NO OFFER	
		38	BRANDED AND BRAND NEW PETRI DISHES 80MM	10	рс	₱280.00	₽ 2,800.00		NO OFFER	
		39	BRANDED AND BRAND NEW PIPETTE TT-EP-10U	1	un	₱13,500.00	₱13,500.00		NO OFFER	
		40	BRANDED AND BRAND NEW PLASTIC STORAGE BOXES	2	рс	₱650.00	₱1,300.00		NO OFFER	
		41	BRANDED AND BRAND NEW QUANTITATIVE FILTER PAPER, GRAGE # 1	1	pck	₱750.00	₱750.00		NO OFFER	
		42	BRANDED AND BRAND NEW QUANTITATIVE FILTER PAPER, GRAGE # 42	1	pck	₱2,500.00	₱2,500.00		NO OFFER	
		43	BRANDED AND BRAND NEW RESEALABLE PLASTIC BAGS	2	pck	₱300.00	₱600.00		NO OFFER	
		44	BRANDED AND BRAND NEW RESEALABLE PLASTIC BAGS	1	pck	₱300.00	₱300.00		NO OFFER	
		45	BRANDED AND BRAND NEW ROOTING HORMONE	4	pck	₱5,000.00	₽ 20,000.00		NO OFFER	
		46	BRANDED AND BRAND NEW SPRAY BOTTLE	6	рс	₱250.00	₱1,500.00		NO OFFER	
		47	BRANDED AND BRAND NEW STIRRING ROD GLASS	3	рс	₱150.00	₱450.00		NO OFFER	
		48	BRANDED AND BRAND NEW SURGICAL MASK	5	box	₱500.00	₱2,500.00		NO OFFER	
		49	BRANDED AND BRAND NEW TEST TUBE	10	box	₱2,400.00	₱24,000.00		NO OFFER	
		50	BRANDED AND BRAND NEW TEST TUBE BRUSH	2	рс	₱150.00	₱300.00		NO OFFER	
		51	BRANDED AND BRAND NEW TEST TUBE BRUSH	2	рс	₱70.00	₱140.00		NO OFFER	

PRICE SCHEDULE FO	OR:
-------------------	-----

OPENING OF BIDS:

UPLB-S-013-02-21, SUPPLY AND DELIVERY OF BRANDED AND BRAND NEW VARIOUS LABORATORY SUPPLIES

DATE OF PREBID CONFERENCE:
DEADLINE FOR SUBMISSION OF BIDS:

Tuesday, 2 February 2021 10:30 AM Tuesday, 16 February 2021 1:45 PM

UNIT/ END-USER	LOT#	ITEM #	PARTICULARS	QUANTITY	UOM	APPROVED	BUDGET	BIDDER'S OFFER					
						UNIT COST	TOTAL COST	UNIT PRICE	TOTAL PRICE				
		52	BRANDED AND BRAND NEW TEST TUBE BRUSH	2	рс	₱90.00	₱180.00		NO OFFER				
		53	BRANDED AND BRAND NEW TEST TUBE CAPS	10	pck	₱6,000.00	₱60,000.00		NO OFFER				
		54	BRANDED AND BRAND NEW TISSUE PAPER	12	pck	₱180.00	₱2,160.00		NO OFFER				
		55	BRANDED AND BRAND NEW TONGS	2	рс	₱300.00	₱600.00		NO OFFER				
	PR No.: 98105 TOTAL FOR LOT 2=					622,600.00		-					
Total Approved Budg	get for the	Contract:		PHP 1,414,480.	PHP 1,414,480.00								
Required Bid Bond (2	2% of the A	BC for Cash	n, Cashier's or Managers Check):	PHP 28,289.60	PHP 28,289.60								
Required Bid Bond (5	5% of the A	BC for Sure	ety Bond):	PHP 70,724.00									
Contract Duration:				14 CD upon red	14 CD upon receipt of notice to proceed								
Price Validity:				120 calendar d	120 calendar days from bid opening								
TOTAL BID PRICE (in	figures):			PHP 0.00									
TOTAL BID PRICE (in	words):												
Company Name:													
Address:													
Phone No.:													
Fax No.:	Fax No.:												
E-mail Address:													
Quoted by (Name an	d Signatur	e):											